Tell whether the following are Tor F. Provide a justification in the allotted space.

1. When the risk premium of long term bonds is high, high risk-averse corporations do not issue such bonds.

2. When the risk premium of long term bonds is high, only high risk-averse banks do buy such bonds.
3.  Within the AD-AS model presented in our lectures, suppose that inflation was at 2% and that Y = YN both last year and the current year. If for some exogenous reason inflation rises this year, then it will rise again next year.

4. Unusually high SP500’s prices compared with the average profits of the previous 10 years tend to lead to unusually low SP500’s prices compared with future profits.
5. Within the AD-AS model presented in our lectures, start with output at YN and inflation at the target. When, as a result of an increase in oil prices, inflation rises by 1 percentage point, the economy will register a quicker decline in inflation under an ‘aggressive’ Central Bank than under a ‘soft’ Central Bank.
6. Consider a mutual fund which sells a share to an individual investor and uses the money thus obtained to make short-sales of stocks. If these stocks fall by 50%, the value of the share sold to the individual investor falls by 50% as well.
7. A high-inflation country which pegs its currency to the currency of a country with low inflation must then on taking into account the existence of IFI when setting its interest rates.

8. Consider a country with fixed rates that over a few years has been funding its trade deficit with foreign currency reserves of its CB. The number of future years during which the country may keep on having deficits depends crucially on the amount of reserves of foreign currency held by its CB.

9. The fact that the reduction in inflation following the implementation of an exchange rate anchor takes a few years makes the slowdown in the growth of nominal wages and profits also occur over a period of a few years. This so being, this gradual slowdown cannot be responsible for the only gradual decline in inflation following the implementation of an exchange rate anchor.

10. If a massive sell-off of government bonds in the secondary market leads to a rise in their interest rates, it will not lead to an instantaneous increase in government interest payments. 

11. Consider a country with a very high public debt. If the Central Bank chooses to impose near zero interest rates on public debt, that Central Bank will become unable to fight inflation.

12. In the periods when they are needed to discourage private saving, a Central Bank should impose zero nominal interest rates
13. If the paradox of thrift doesn´t hold, savers ought to get a share in next year’s production.

14. Assume a closed economy with no taxes and suppose that, if the economy is at full-employment, private saving is $30 billion. Private investment is $ 20 billion whatever the level of employment. Start at full-employment. If the government runs a balanced budget, then private saving will end up being equal to $ 20 billion.
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